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Third Semester B.E. Degree Exami , Jan./Feb.202L
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d\ffi{ *,' @ OR -{%-2 a. Exp@he function (t) in terrqs*&F*rnit step function afiffiWnd its Laplace transform, where

i t (r z t 1r "%l 
#ffiquw

,q. s
-* -'. .%' uooule-2 lfos.lwfrffir @ r _^.wa,3 a. Obtq{ffi#le Fourier series ffitrffiinction (x) = xz fidn ( x ( 7r. (06 Marks)

Obtaffitfre Fourier serie;ffiffsion of d\ #"

l" . 
ffi'*w"

-,' [x 0<\k& -q@.""{+/-1 sw &*@{k1/ (UTMart(s)

E#pina the Cosine ffir{"g. series foA(d = x([-x) , 0 < x ( 8. (07 Marks)
,# #* ffi-e#d*u. m\--## fory'r OR

a. Obtain th#Fffirier series of ({) *f*l in (-t, ,1,). (06 Marks)
b. Find the sine half range serQsTor

c. Obtain the
expansion of

4 u*u' T'

(07 Marks)

and the coefficients of the first cosine and sine terms in the Fourier
able. (07 Marks)

@ffi$ffiffi

- [], o<t<l **c 
"m* .s.I s ruq6, **_(t)={t, t<t<z. \ Wu%.u r""jffi (06Marks)

|.,,, t>z ffi ffi.jlF$, tr
rerse k1p;flr*rrorrr, "f ffiusing 

aorr^ofiUio*, rheorem. (07 Marks)

c. Solve by the mejfigil of Laplace tranfunnt, the equatio, 
-."s;";

y" + 4y' a 3y : e+ given y(0) = o, ffiu*0. d, # (07 Marks)
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Module-3 ^ bt\Fftr"
5 a. rf(x): {t ^)(' ' l)(l:1 FindtheFourier,*hffirof(x)andhencefindvalueof---\--l I o , lxl>l ,*@

fl xcosx-sinx . m*
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.*",,:::-4. sw *\ (06Marks)o x' --% "fryPb. Find the Fourier Cosine transform of ffi ' w";'
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formula once. (07 Marks)
tu-d* lY:lulu

applying Mikffiftiethod. Apply co
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a. Solve ttre ffffig by Modifi@ffer's method

dv .W
# = ** | .rff| , y(0) = t aax AO.+ by taking h= 0.2. Consider two modifications in each

steD. *gmh (06 Marks)

b. Given *=3*+* ey(0) = l.,Compute y(0.2) by taking h = 0.2 using Runge - Kuttadxz -.\
method of ordeffi (07 Marks)

Given g=fi%i,)x2 and y(t) = t , (1.1): 1.233 , y(1.2) = 1.548, y(1.3) :1.979,
dxd

determidful.a) by Adam's Bashforth method. A001y corrector formula once. (07 Merks)
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6 a. Solve the Integffiffiation 4t
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9 a. Given y'' - xy' - y: 0 with y(0) = l, y(0) = 0. Cgqffiy(0.2) using Runge - Kutt1ry9lho.d,
(06 Marks)
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b. Derive Euter's equation in the f"r* #-ftfm= 0 
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c. Provethatthegeodesicsonaplaneut.ffiy'tttin.t. W" (07Marks)
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